
MATHS

BOOKS - RS AGGARWAL MATHS (HINGLISH)

STRAIGHT LINES

Solved Example

1. Find the distance the points,  and 

A.  

B.  

C.  

D.  

Answer: C

W t h Vid S l ti

(2, − 3) ( − 6, 3)

15 units

5 units

10 units

9 units

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_E5eB7mtd99KP


Watch Video Solution

2. Using the distance formula, prove that the points

 are collinear.

Watch Video Solution

A( − 2, 3), B(1, 2) and C(7, 0)

3. Prove that the points (0,5), (-2,-2),(5,0) and (7,7) are the vertices of a

rhombus

Watch Video Solution

4. Find the area of the triangle whose vertices are

A. 

B. 

C. 

A(4, 4), B(3, − 16) and C(3, − 2)

9sq. units

7sq. units

5sq. units

https://dl.doubtnut.com/l/_E5eB7mtd99KP
https://dl.doubtnut.com/l/_0ODdkM1Ee9tS
https://dl.doubtnut.com/l/_z4xUpr6QEz6u
https://dl.doubtnut.com/l/_eCHyjqRGfgYb


D. 

Answer: B

Watch Video Solution

4sq. units

5. Find the coordinates of the point which divides the line segment

joining the points  and  in the ratio 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A(5, − 2) B(9, 6) 3: 1

(8, 4)

(2, 4)

(7, − 4)

(7, 5)

https://dl.doubtnut.com/l/_eCHyjqRGfgYb
https://dl.doubtnut.com/l/_xbrlpgJ5NLAC


6. Find the coordinates of the midpoint of the ilne segment joining the

points, 

Watch Video Solution

A( − 2, − 5) and B(3, − 1)

7. In what ratio, the line joining  is divided by the line 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( − 1, 1)and(5, 7)

x + y = 4?

2: 7

1: 3

1: 2

3: 2

https://dl.doubtnut.com/l/_xfhgtDz8FKXz
https://dl.doubtnut.com/l/_DdQayxzZtQzC


8. Reduce the equation  to  

(i) slope-intercept form and �nal the slope and y-intercept. 

(ii) intercepts form and �nd the intercepts on the axes.

Watch Video Solution

√3y + y + 2 = 0

9. Reduce the equation  to intercepts form and �nd the

length of the segment intercept the axes.

Watch Video Solution

3x − 2y + 4 = 0

10. Reduce the equation  to the normal form 

, and hence �nd the value of .

Watch Video Solution

√3 + y + 2 = 0

x cosα + y sinα = p α and p

https://dl.doubtnut.com/l/_SKDQ9v1GnJNO
https://dl.doubtnut.com/l/_KXGrXVPEQP4b
https://dl.doubtnut.com/l/_UpVV5QjvL3oV


11. Reduce the equation  to the normal form 

, and hence �nd the value of .

Watch Video Solution

√3 + y + 2 = 0

x cosα + y sinα = p α and p

12. Reduce the equation y+4=0 to the normal form

 and hence �nd the values of .

Watch Video Solution

x cos alhpha + y sinα = p α and p

13. Find the distance of the point (4,1) from the line 

Watch Video Solution

3x − 4y + 12 = 0

14. Find the distance of the point (-1,1) and the given line is

Watch Video Solution

12x − 5y + 82 = 0

https://dl.doubtnut.com/l/_pG8ldkOf2b7Y
https://dl.doubtnut.com/l/_ovzcDMRw3Ml6
https://dl.doubtnut.com/l/_BmpWv9toZyjC
https://dl.doubtnut.com/l/_cgsJJd9nK4Y3


15. Find the length of the perpendicular from the point (a,b) to the line

Watch Video Solution

+ = 1
x

a

y

b

16. Find the length of the perpendicular from the origin to the line 4x+3y-

2=0

Watch Video Solution

17. If p is the length of perpendicular from the origin to the line whose

intercepts on the axes are a and b, then show that .

Watch Video Solution

= +
1

p2

1

a2

1

b2

https://dl.doubtnut.com/l/_cgsJJd9nK4Y3
https://dl.doubtnut.com/l/_j9kbeCb10Osa
https://dl.doubtnut.com/l/_d96gnIz2oIuu
https://dl.doubtnut.com/l/_k6Geol6KWAf3


18. Find the perpendicular distance of line joining the points

 from the origin

Watch Video Solution

A(cos θ, sin θ)B(cos ϕ, sinϕ)

19. If  are the lengths of the perpendicular form the orgin to

the line 

respectively then prove that 

Watch Video Solution

p1 and p2

x secθ + y cos ecθ = a and x cos θ − y sin θ = a cos 2θ

4p2
1 + p2

2 = a2

20. What are the points on the y-axis whose perpendicular distance from

the line 

Watch Video Solution

− = 1 is 3 units
x

3

y

4

https://dl.doubtnut.com/l/_Cs8FNU4tJU7R
https://dl.doubtnut.com/l/_VVktCxhMwRZs
https://dl.doubtnut.com/l/_1tzNaBLFJzie


21. Find the distance between the parallel line 15x+8y-34=0 and

15x+8y+31=0.

Watch Video Solution

22. Find the distance between the line

Watch Video Solution

3x − 4y + 9 = 0 and 6x − 8y − 17 = 0

23. Prove that the line 5x-2y-1=0 is midpoint to the line

Watch Video Solution

5x − 2y − 9 = 0 and 5x − 2y + 7 = 0

24. Find the equation of the line midway between the parallel lines

 and 3x+2y+6=0`9x + 6y − 7 = 0

https://dl.doubtnut.com/l/_1XF7H7ynn6nB
https://dl.doubtnut.com/l/_lgNea5aTwKtf
https://dl.doubtnut.com/l/_O3Q4ghW2sgPP
https://dl.doubtnut.com/l/_mVsYgk6kg9rK


Watch Video Solution

25. Find the coordinates of a point on  whose distance

from  is 

Watch Video Solution

x + y + 3 = 0,

x + 2y + 2 = 0 √5.

26. If the given be shifted to the point (2,-3) by a translation of coordinate

axes, �nd the new coordinates of the point (4,7).

Watch Video Solution

27. If the origin is shifted to the point (2,3) the coordinates of a point

become (5,-4). Find the original coordinates, which the axes are parallel.

Watch Video Solution

https://dl.doubtnut.com/l/_mVsYgk6kg9rK
https://dl.doubtnut.com/l/_dOySP8n1U3yC
https://dl.doubtnut.com/l/_59EjoJrpISzT
https://dl.doubtnut.com/l/_t5nh4SoFhQpQ


28. The coordinates of the point  in the new system, when its origin

is shifted to  are

Watch Video Solution

(4, 5)

(3, 7)

29. Find the transformed equation of the straight line

 , when the origin is shifted to the point 

 after translation of axes.

Watch Video Solution

2x\ 3y + \ 5\ = \ 0

(3, \ 1)

30. Find the point to which the origin should be shifted after a

translation of axes so that the following equations will have no �rst

degree term: 

Watch Video Solution

y2 + x2 − 4x − 8y + 3 = 0

https://dl.doubtnut.com/l/_29vuiWWGXX2X
https://dl.doubtnut.com/l/_VKSv75vOOp9j
https://dl.doubtnut.com/l/_u2FQyudle3tk


31. Find the equation of the line drawn through the point interseciton of

the line 4x-3y+7=0 and 2x+3y+5=0 and passing through the point (-4,5).

Watch Video Solution

32. Find the equation of the line through the intersection of lines

 and  and whose slope is 5.

Watch Video Solution

3x + 4y = 7 x − y + 2 = 0

33. Find the equation of the line through the intersection of lines

and  and which is parallel to 

Watch Video Solution

x +  2y 3  =  0 4xy +  7  = 0

5x +  4y20  =  0

https://dl.doubtnut.com/l/_bEAcjTZZaj8A
https://dl.doubtnut.com/l/_3p4nyFclfMuj
https://dl.doubtnut.com/l/_iYsvTtBK3IcR


Example

34. Find the equation of the line through the intersection of the lines

3x+y-9=0 and 4x+3y-7=0 and which is perpendicular to the line 5x-4y+1=0.

Watch Video Solution

35. Find the equation of line parallel to the y-axis and drawn through the

point of intersection of and .

Watch Video Solution

x 7y +  5  =  0 3x + y 7  =  0

36. Find the equation of the line through the intersection of the lines

 and  that has its x-intercept equal

to  .

Watch Video Solution

2x + \ 3y\ 4\ = \ 0 x\ 5y = \ 7

\ 4

https://dl.doubtnut.com/l/_muFQEo2gpjF5
https://dl.doubtnut.com/l/_r6J3SvuPHWiM
https://dl.doubtnut.com/l/_38Vmx2aA0TNk
https://dl.doubtnut.com/l/_pp1mgZ9ktuQd


1. Find the slope of the lines whose iclination is given : 

  

Watch Video Solution

(i)45∘ (ii)60∘ (iii)120∘

2. What is the inclination of a line whose slope is

A. zero

B. positive

C. negative?

D. not de�ned?

Answer: D

Watch Video Solution

3. Find the slope of the line passing through the points 

(i)( − 2, 3) and (8, − 5)   (ii)(4, − 3) and (6, − 3)   (ii)(3, − 1) and

https://dl.doubtnut.com/l/_pp1mgZ9ktuQd
https://dl.doubtnut.com/l/_dgHONL8xAn6E
https://dl.doubtnut.com/l/_UXxlRiOGTZqB


Watch Video Solution

4. If the slope of the line passing through the points (2,5) and (x,3) is 2.

�nd the value of x.

Watch Video Solution

5. Find the value of x so that the inclination of the line joining the points

 and  is 

Watch Video Solution

(x, − 3) (2, 5) 135∘

6. Find the angle between the X-axis and the line joining the points

Watch Video Solution

(3, − 1)and (4, − 2).

https://dl.doubtnut.com/l/_UXxlRiOGTZqB
https://dl.doubtnut.com/l/_8BycTAO0vPi7
https://dl.doubtnut.com/l/_b5cnavrP30Kp
https://dl.doubtnut.com/l/_YGBIJdAJFwUe


7. Show that the line joining (2,-3) and (-5,1) is parallel to the line joining

(7,-1) and (0,3).

Watch Video Solution

8. Show that the joining (2,-5) and (-2, 5) is perpendicular to the line

joining (6,3) and (1,1).

Watch Video Solution

9. Line through the points (-2,6) and (4,80 is perpendicular to the line

through the points (8,12) and  Find the value of 

Watch Video Solution

(x, 24). x.

10. Without using Pythagoras theorem, show that

 are the vertices of a right angledA(4, 4),  B(3, 5)and C( − 1, − 1)

https://dl.doubtnut.com/l/_2GcsdYLOhqNE
https://dl.doubtnut.com/l/_CyFuQ1IrtS3h
https://dl.doubtnut.com/l/_yD5undAildYd
https://dl.doubtnut.com/l/_IjQfcUgD86Xf


triangle.

Watch Video Solution

11. Prove that the points  are collinear. Also

�nd the equation of the straight line on which these points lie.

Watch Video Solution

(5, 1),  (1, − 1)and (11, 4)

12. Find the value of  for which the points  are

collinear.

Watch Video Solution

x (x − 1),  (2, 1)and (4, 5)

13. lf  and  lie on a line, show that 

Watch Video Solution

(h, 0), (a, b) (0, k) + = 1
a

h

b

k

https://dl.doubtnut.com/l/_IjQfcUgD86Xf
https://dl.doubtnut.com/l/_RxRN4B8uShfN
https://dl.doubtnut.com/l/_hthBcKE6aChN
https://dl.doubtnut.com/l/_6xlHKawILcHs


14. By using the concept of slope, show that the points (-2,-10, (4,0), (3,3)

and (-3,2) are the vertices f a parallelogram.

Watch Video Solution

15. A quadrilateral has the vertices at the points

 . Show that the mid points of the

sides of this quadrilateral are the vertices of a parallelogram.

Watch Video Solution

( − 4, 2),  (2, 6),  (8, 5) and (9, − 7)

16. Find the angle between the lines whose slope are  and 3.

Watch Video Solution

1

2

17. If A(-2,1),B(2,3) and C(-2,-4) be the vertices of a , show that △ ABC

tanB =
2

3

https://dl.doubtnut.com/l/_UGX1HVnAHZJX
https://dl.doubtnut.com/l/_qG6uB2y8zzfh
https://dl.doubtnut.com/l/_81e9fs82C6RO
https://dl.doubtnut.com/l/_FL27crMgHaxN


Watch Video Solution

18. If the angle between two lines is and slope of one of the lines is ,

�nd the slope of the other line.

Watch Video Solution

π

4

1

2

19. Write down the equation of the following lines: 

Watch Video Solution

x − aξs

20. Write down the equation of a line parallel to the x-axis 

(i) at a distance of 5 units above the x-axis. 

(ii) at a distance of 4 units below the x-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_FL27crMgHaxN
https://dl.doubtnut.com/l/_shQiRoS2BFVk
https://dl.doubtnut.com/l/_5gnxIgvgPNKe
https://dl.doubtnut.com/l/_nQAMv5Acv9o1


21. Write down the equation of a line parallel to the y-axis 

(i) at a distance of 7 units on left-hand side of the y=-axis 

(ii) at a distance of 3 on right-hand side of the y-axis.

Watch Video Solution

22. Find the equations of a line parallel to the axes and passing through

the point (-3,5).

Watch Video Solution

23. Find the values of k for which the line  

 is (a) Parallel to the xaxis, (b) Parallel to the vaxis, (c)

Passing through the origin.

Watch Video Solution

(k − 3)x − (4 − k2)

y + k2 − 7k + 6 = 0

https://dl.doubtnut.com/l/_SGg0zouzzx2o
https://dl.doubtnut.com/l/_UMg4gHPosQ2V
https://dl.doubtnut.com/l/_PGNxkykphG8j


24. Find the equations of aline which is equidistant from the liines x=-3

and x=5.

Watch Video Solution

25. Find the equation of a line passing through the point (4,-3) and

having slope 2.

Watch Video Solution

26. Find the equation of a line which makes an angle of  with the x-

axis and passes through the point (3,5).

Watch Video Solution

135∘

27. Find the equation of a line passsing through the point (3,-4) and

parallel to the x-axis.

https://dl.doubtnut.com/l/_kNLtFSsi9nyT
https://dl.doubtnut.com/l/_sBtRH2lg1SeV
https://dl.doubtnut.com/l/_jwopAPkq3cBM
https://dl.doubtnut.com/l/_ul7zHjVVJ9Vz


Watch Video Solution

28. Find the equation of a line passing through the points (-1,1) and (2,-4)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

5x − 3y − 2 = 0

5x − 3y + 2 = 0

5x + 3y + 2 = 0

5x + 6y + 2 = 0

29. Show that the three points (3,0),(-2,-2) and (8,2) are collinear. Also, �nd

the equation of the straight line on which these points lie.

Watch Video Solution

https://dl.doubtnut.com/l/_ul7zHjVVJ9Vz
https://dl.doubtnut.com/l/_EkHhZadeSZCf
https://dl.doubtnut.com/l/_QyJUEMD7xW5y


30. Show that the points (a,0),(0,b) and (3a,-2b) are collinear. Also, �nd the

equation of line containing them.

Watch Video Solution

31. �nd the equations of the sides of the triangle whose vertices are

 and  Also �nd the equation the median

through 

Watch Video Solution

( − 1, 8), (4, 2) ( − 5, − 3).

( − 1, − 8)

32. Find the equation of the medians of the triangle ABC whose vertices

are 

Watch Video Solution

A(2, 5)B( − 4, 9)and C( − 2, − 1).

https://dl.doubtnut.com/l/_wKGyDzQEMCqO
https://dl.doubtnut.com/l/_8EvVVACO8LyR
https://dl.doubtnut.com/l/_NBxWRmqiqmC4


33. Find the equation of the perpendicular bisector of the line segment

joining the points  and 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A(2, 3) B(6, − 5)

x − 2y − 6 = 0

3x − 2y − 6 = 0

x + 2y + 6 = 0

x + 2y − 6 = 0

34. A(2,3) , B(-2,1) and C(4,-3) are the vertices of . Find the slope of

(i) side AB (ii) altitude through A (iii) median through A (iv) perpendicular

bisector of AB.

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_5qCeDGcg8Dpf
https://dl.doubtnut.com/l/_7GhPzwX3PPox


35. Find the equation of the bisector of , whose vertices

are  .

Watch Video Solution

∠Aof △ ABC

A( − 2, 4), B(5, 5) and C(4, − 2)

36. Find the equation of a line whose slope is  and y-intercept equal to 

Watch Video Solution

1

2
−5

4

37. Find the equation of the line which intersects the y-axis at a distance

of 2 units above the origin and makes an angle of  with the positive

direction of the x-axis.

Watch Video Solution

300

https://dl.doubtnut.com/l/_qYmwiRKXaFmd
https://dl.doubtnut.com/l/_sI2eXosxenr9
https://dl.doubtnut.com/l/_BvavNeMamIlJ


38. Find the equation of a straight line which cuts o� an intercept of 5

units on negative direction of y-axis and makes an angle  with the

positive direction of x-axis.

Watch Video Solution

1200

39. Find the equation of a line for which tan  and x-intercept equal

to 5 units.

Watch Video Solution

θ =
1

3

40. Find the equation of a straight line: with slope -2 and intersecting the

x-axis at a distance of 3 units to the left of origin.

Watch Video Solution

https://dl.doubtnut.com/l/_wce3I7QsPURH
https://dl.doubtnut.com/l/_rPfaIkhaTPoC
https://dl.doubtnut.com/l/_kKyLbQ4TFTbO


41. Reduce the equation  to the slope-intercept form

and �nd its slope and y-intercept.

Watch Video Solution

6x + 3y − 5 = 0

42. Prove that the line  are

parallel.

Watch Video Solution

x + 2y − 9 = 0 and 2x + 4y + 5 = 0

43. Show that the line  are

perpendicular to each other.

Watch Video Solution

27x − 18y + 25 = 0 and 2x + 3y + 7 = 0

44. Find the angle made by the line  with the positive

direction of the x-axis.

x + √3y − 6 = 0

https://dl.doubtnut.com/l/_Th4ek3oWyqAZ
https://dl.doubtnut.com/l/_RmUThRXLyAxI
https://dl.doubtnut.com/l/_A6wq7ZBkbA3X
https://dl.doubtnut.com/l/_Y3G41xN26xKz


Watch Video Solution

45. Find the angle made by the line x 

with the positive direction of the x-axis.

Watch Video Solution

cos 30∘ + ysin 30∘ + sin 120∘ = 0

46. Find angles between the lines and .

Watch Video Solution

√3x + y = 1 x + √3y = 1

47. Show that the lines

Watch Video Solution

a1x + b1y + c1 = 0 and a2x + b2y + c2 = 0, whereb1, b2 ≠ 0are (i) paralle

https://dl.doubtnut.com/l/_Y3G41xN26xKz
https://dl.doubtnut.com/l/_JFLZAETd3Pn3
https://dl.doubtnut.com/l/_tVaKBV8wqSrO
https://dl.doubtnut.com/l/_ggrPX9CT0uDr


48. Find the equation of the line passing through the point (2,-5) and

parallel to the line 2x-3y=7.

Watch Video Solution

49. Find the tion of the line passing through the point and

perpendicular to the line 

Watch Video Solution

( − 2, − 4)

3x − y + 5 = 0

50. Find the equation of the line y-intercept is -3 and which is

perpendicular to the line 

Watch Video Solution

3x − 2y + 5 = 0

51. Find equation of the line perpendicular to the line 

and having  intercept 3.

x − 7y + 5 = 0

x

https://dl.doubtnut.com/l/_eLHpbirpvZPK
https://dl.doubtnut.com/l/_0O8VbVD7NHTa
https://dl.doubtnut.com/l/_UMVQz1zKUwVr
https://dl.doubtnut.com/l/_VIUv5Kgv8V5A


Watch Video Solution

52. Find the equation of the lines through the point (3, 2) which make an

angle of with the line .

Watch Video Solution

45∘ x − 2y = 3

53. Find the equation of a line which is at a distance of  units from origin

and the perpendicular from origin to this line makes an angle of 

from the positive direction of -axis.

Watch Video Solution

5

30∘

X

54. Find the equation of the line whose perpendicular distance from the

origin is 3 units and the angle between the positive direction of x-axis

and the perpendicular is .

Watch Video Solution

15∘

https://dl.doubtnut.com/l/_VIUv5Kgv8V5A
https://dl.doubtnut.com/l/_WtXqjEq7nMI9
https://dl.doubtnut.com/l/_L6Ln4qcXXtJ5
https://dl.doubtnut.com/l/_IInuemoMahc2


Solved Example

55. Find the equation of a line whose perpendicular disatnce from the

origin is  units and the angle between the positive direction of the x-

axis and the perpendicular is  .

Watch Video Solution

√8

135∘

56. Find the equation of a line whose perpendicular distance from the

origin is 2 units and the angle between the perpendicular segment and

the positive of the x-axis is .

Watch Video Solution

240∘

1. Find the equation of the line, which makes intercepts  and  on the x

and y axes respectively.

A. 

3 2

3x − 2y − 12 = 0

https://dl.doubtnut.com/l/_wPCNsbjX38Sq
https://dl.doubtnut.com/l/_jaeogWYUduvm
https://dl.doubtnut.com/l/_YS18XEkCPwwM


B. 

C. 

D. 

Answer: D

Watch Video Solution

5x − y − 6 = 0

5x − 2y − 6 = 0

2x + 3y − 6 = 0

2. Find the equations of the line which passes through the point 

and the sum of its intercepts on the axes is  .

Watch Video Solution

(3, 4)

14

3. Find the equations of the lines, which cut-o� intercepts on the axes

whose sum and product are  and  , respectively.

Watch Video Solution

1 −6

https://dl.doubtnut.com/l/_YS18XEkCPwwM
https://dl.doubtnut.com/l/_MC3za2sfXq3l
https://dl.doubtnut.com/l/_87we638ZI5AJ


4. P (a, b) is the midpoint of a line segment between axes. Show that

equation of the line is 

Watch Video Solution

+ = 2.
x

a

y

b

5. Find the equation of a line which passes through the point (-3,7) and

makes intercepts on the axes, equal in magnitude but opposite in sign.

Watch Video Solution

6. Find the intercepts cut o� the line  on the coordintate

axes.

Watch Video Solution

2x − y + 16 = 0

7. Find the equation of the line through (2,3) so that the segment of the

line intercepted between the axes is bisected at this point.

https://dl.doubtnut.com/l/_Y0FeAPCr0Rev
https://dl.doubtnut.com/l/_Y6cARINDlA4C
https://dl.doubtnut.com/l/_LzKzANoPkqdM
https://dl.doubtnut.com/l/_giNqvxKe9E52


Watch Video Solution

8. Find the equation of the line so that the segment intercept between

the axes is divided by the point P(5,-4) in the ratio 1:2

Watch Video Solution

9. Find the equation of a line drawn perpendicular to the line

 through the point where it meets the  axis.

Watch Video Solution

+ = 1
x

4

y

6
y

10. Find the equation of the line passing through the point of

intersection of the lines , which

has equal intercepts on the axes.

Watch Video Solution

4x + 7y − 3 = 0 and 2x − 3y + 1 = 0

https://dl.doubtnut.com/l/_giNqvxKe9E52
https://dl.doubtnut.com/l/_y7ATbJnh8dPi
https://dl.doubtnut.com/l/_wYi7H2fpZ9KT
https://dl.doubtnut.com/l/_pn4nhXxnVn3N
https://dl.doubtnut.com/l/_o5HGO4zdUaTp


Miscellaneous Problems

11. Find the area of triangle formed by the line  and the co-

ordinate axes.

Watch Video Solution

ax + by = 2ab

12. The area of the triangle formed by the coordinates axes and  line is 

 units and the length of the hypotenuse is  Find the

equation of the line.

Watch Video Solution

a 6

square 5units.

1. Find the point of intersection of the line

Watch Video Solution

5x + 7y = 3 and 2x − 3y = 7

https://dl.doubtnut.com/l/_o5HGO4zdUaTp
https://dl.doubtnut.com/l/_9tRr4aeCEpFR
https://dl.doubtnut.com/l/_MJX2Nyjek46Y


2. Find the equation of the line parallel to the y-axis and drawn through

the point of intersection of the lines .

Watch Video Solution

x − 7y + 15 = 0 and 2x + y = 0

3. Find the equation of the line passing through the intersection of the

lines , and parallel to the lie y-x=8

Watch Video Solution

x + 2y + 3 = 0 and 3x + 4y + 7 = 0

4. Find the value of k for which the lines

 may interested at a point.

Watch Video Solution

3x + y = 2, kx + 2y = 3 and 2x − y = 3

5. Show that the lines x-y=6, 4x-4y=20 and 6x+5y+8=0 are concurrent. Also

�nd the point of intersection.

https://dl.doubtnut.com/l/_MQFb40WVd6jQ
https://dl.doubtnut.com/l/_EEtgMiBS9X2U
https://dl.doubtnut.com/l/_1BAiqyeeX0NZ
https://dl.doubtnut.com/l/_v3OUcwPAHKG3


Watch Video Solution

6. If three lines whose equations are and 

are concurrent, then show that 

.

Watch Video Solution

y = m1x + c1, y = m2x + c2

y = m3x + c3

m1(c2 − c3) + m2(c3 − c1) + m3(c1 − c2) = 0

7. Find the area of the triangle formed by the lines 

and .

Watch Video Solution

y − x = 0, x + y = 0

x − k = 0

8. Show that the area of the triangle formed by the lines

and is 

Watch Video Solution

y = m1x + c1, y = m2x + c2 x = 0
(c1 − c2)

2

2|m1 − m2|

https://dl.doubtnut.com/l/_v3OUcwPAHKG3
https://dl.doubtnut.com/l/_9MLq23FobKdR
https://dl.doubtnut.com/l/_ECf9TO0NkU73
https://dl.doubtnut.com/l/_SFQSBjPR7czo
https://dl.doubtnut.com/l/_1hUHsFoFTjJn


Exercise 20 A

9. Find the image of the point with respect to the line 

assuming the line to be a plane mirror.

Watch Video Solution

(3, 8) x + 3y = 7

1. Find the distance between the points  and 

A. A(2,-3) and B(-6,3)

B. C(-1,1) and D(8,11)

C. P(-8,-3) and Q(-2,-5)

D. R(a+,a-b) and S(a-b,a+b)

Answer: A::B

Watch Video Solution

(0, − 3) (3, 0)

https://dl.doubtnut.com/l/_1hUHsFoFTjJn
https://dl.doubtnut.com/l/_o4WkwPzN7b6T


2. Find the distance of the point  from the origin

Watch Video Solution

(6, − 6)

3. If a point  is equidistant from the points  and 

 relation between  and .

Watch Video Solution

P (x, y) A(6. − 1)

B(2, 3) x y

4. Find a point on the x-axis which is equidistant from the points 

and  .

Watch Video Solution

(7,  6)

( − 3,  4)

5. Find the distance between  when i.  is

parallel to the y-axis ii. PQ is parallel to the x-axis.

Watch Video Solution

P (x1,  y1)and Q(x2, y2) PQ

https://dl.doubtnut.com/l/_8nytpKq0683J
https://dl.doubtnut.com/l/_HKqBph53HgIM
https://dl.doubtnut.com/l/_xxj2agQVDtoy
https://dl.doubtnut.com/l/_XDDjadFJVUaa


6. A is a point on the x-axis with abscissa -8 and B is a point on the y-axis

with ordinate 15. Find the distance AB.

Watch Video Solution

7. Find a point on the y-axis which is equidistant from A(-4, 3) and B(5, 2).

Watch Video Solution

8. Using the distance formula, show that the points A(3, -2), B(5, 2) and

C(8, 8) are collinear.

Watch Video Solution

9. Show that the points A(7, 10), B(-2, 5) and C(3, -4) are the vertices of an

isosceles right-angled triangle.

W h Vid S l i

https://dl.doubtnut.com/l/_XDDjadFJVUaa
https://dl.doubtnut.com/l/_ZkDI6StIUs48
https://dl.doubtnut.com/l/_RekTKzitL5kC
https://dl.doubtnut.com/l/_tAEgQqrpoMll
https://dl.doubtnut.com/l/_7EMG3cN96qvG


Watch Video Solution

10. Show that the points A(1, 1), B(-1, -1) and  are the

vertices of an equilateral triangle each of whose sides is  units.

Watch Video Solution

C( − √3, √3)

2√2

11. Show that the points A(2,-2), B(8, 4), C(5,7) and D(-1, 1) are the angular

points of a rectangle.

Watch Video Solution

12. Show that A(3, 2), B(0, 5), C(-3, 2) and D(0, -1) are the vertices of a

square.

Watch Video Solution

https://dl.doubtnut.com/l/_7EMG3cN96qvG
https://dl.doubtnut.com/l/_TUbzVrpfHqgA
https://dl.doubtnut.com/l/_snoUB06NzdhB
https://dl.doubtnut.com/l/_M7o8K9SM0zEt


13. Show that the points  and 

are the vertices of a parallelogram.

Watch Video Solution

A(1,   − 2),   B(3,  6),   C(5,  10) D(3,  2)

14. Show that the points A(2, -1), B(3, 4), C(-2, 3) and D(-3, -2) are the

vertices of a rhombus.

Watch Video Solution

15. If the points  and  form a

parallelogram, �nd the values of  and  .

Watch Video Solution

( − 2,   − 1),  (1,  0),  (x,  3) (1,  y)

x y

16. Find the area of  whose vertices are A(-3, -5), B(5,2) and

C(-9,-3).

△ ABC

https://dl.doubtnut.com/l/_xE8bI1OvfGgO
https://dl.doubtnut.com/l/_AQzGzM0XwoXz
https://dl.doubtnut.com/l/_G3K2xG0Px0Fu
https://dl.doubtnut.com/l/_4NfGU2a9RaUS


Watch Video Solution

17. Show that the points A(-5, 1), B(5, 5) and C(10, 7) are collinear.

Watch Video Solution

18. Find the value of k for which the points A(-2, 3), B(1, 2) and C(k, 0) are

collinear.

Watch Video Solution

19. Find the area of the quadrilateral whose vertices are A(-4,5), B(0,7),

C(5,-5) and D(-4,-2).

Watch Video Solution

https://dl.doubtnut.com/l/_4NfGU2a9RaUS
https://dl.doubtnut.com/l/_6MF2CZjVUvow
https://dl.doubtnut.com/l/_fKkYRHnKCavP
https://dl.doubtnut.com/l/_vO9oC94xxK1j


20. Find the area of , the midpoints of whose sides AB, BC and

CA are D(3,-1), E(5, 3) and F(1,-3) respectively.

Watch Video Solution

△ ABC

21. Find the coordinates of the point which divides the join of A(-5,11) and

B(4,-7) in the ratio 2:7.

Watch Video Solution

22. Find the ratio in which the x-axis cuts the join of the points A(4,5) and

B(-10,-2). Also, �nd the point of intersection.

Watch Video Solution

23. In what ratio is the line segment joining the points A(-4,2) and B(8,3)

divided by the y-axis? Also, �nd the point of intersection.

https://dl.doubtnut.com/l/_ikQWZu62Nc2E
https://dl.doubtnut.com/l/_XqYoqslwcHLY
https://dl.doubtnut.com/l/_auLhJMrqvo5W
https://dl.doubtnut.com/l/_R9GAuBvri8fG


Exercise 20 B

Watch Video Solution

1. Find the angle of inclination of the line whose slope is , 

.

Watch Video Solution

(i)
1

√3

(ii) − √3

2. Find the slope of the lines whose iclination is given : 

  

Watch Video Solution

(i)45∘ (ii)60∘ (iii)120∘

3. Find the slope of a line which passes through the points 

(i)(0,0)and (4,-2) (ii)(0,-3) and (2,1) 

(iii)(2,5)and (-4,-4) (iv)(-2,3)and (4,-6)

Watch Video Solution

https://dl.doubtnut.com/l/_R9GAuBvri8fG
https://dl.doubtnut.com/l/_t1GQXrXdFMa7
https://dl.doubtnut.com/l/_mcwpzArGdzey
https://dl.doubtnut.com/l/_hmuPv8PzOyJE


Watch Video Solution

4. If the slope of the line joining the points A(x,2) and B(6,-8) is �nd the

value of x.

Watch Video Solution

5. Show that the line through the points (5, 6) and (2, 3) is parallel to the

line through the points (9,-2) and (6,-5).

Watch Video Solution

6. What is the value of  so that the line through  is

parallel to the line through 

Watch Video Solution

y (3, y)and (2, 7)

( − 1, 4)and (0, 6) ?

https://dl.doubtnut.com/l/_hmuPv8PzOyJE
https://dl.doubtnut.com/l/_VmzFgMKPbqeE
https://dl.doubtnut.com/l/_G4M0uD58GRUL
https://dl.doubtnut.com/l/_XkJqijvfT6lD


7. Show that the line through the points (-2, 6) and (4, 8) is perpendicular

to the line through the points (3,-3) and (5,-9).

Watch Video Solution

8. If A(2, -5), B(-2, 5), C(x, 3) and D(1, 1) be four points such that AB and CD

are perpendicular to each other, �nd the value of x.

Watch Video Solution

9. Without using Pythagoras's theorem, show that the points A(1, 2), B(4,

5) and C(6, 3) are the vertices of a right-angled triangle.

Watch Video Solution

10. Using slopes, show that the points A(6, -1), B(5, 0) and C(2, 3) are

collinear.

https://dl.doubtnut.com/l/_v20D5tsDTDGC
https://dl.doubtnut.com/l/_s4osJLa3wIbu
https://dl.doubtnut.com/l/_I6iwrqC35wnW
https://dl.doubtnut.com/l/_ByYGTlSpym7L


Watch Video Solution

11. Using slopes, �nd the value of x for which the points A(5, 1), B(1,-1) and

C(x-4) are collinear.

Watch Video Solution

12. Show that the points  and 

are the vertices points of a rectangle.

Watch Video Solution

( − 4,   − 1),   ( − 2,   − 4),   (4,  0) (2,  3)

13. Prove that the points  and (1,2) are the

vertices of a parallelogram. Is it a rectangle?

Watch Video Solution

( − 2, − 1), (1, 0), (4, 3),

https://dl.doubtnut.com/l/_ByYGTlSpym7L
https://dl.doubtnut.com/l/_JlZRKSOBliGh
https://dl.doubtnut.com/l/_zWPBU5wOzMCi
https://dl.doubtnut.com/l/_k2ATZ8a7hu1k


14. Three points and lie on a line. Show that 

.

Watch Video Solution

P (h, k), Q(x1, y1) R(x2, y2)

(h − x1)(y2 − y1) = (k − y1)(x2 − x1)

15. If points  are collinear, using the concept of

slope prove that 

Watch Video Solution

(a, 0),  (0, b)and (x, y)

+ = 1.
x

a

y

b

16. A line passes through the points A(4, -6) and B(-2,-5). Show that the

line AB makes an obtuse angle with the x-axis.

Watch Video Solution

17. The vertices of a quadrilateral are A(-4, 2), B(2, 6), C(8, 5) and D(9,-7).

Using slopes, show that the midpoints of the sides of the quad. ABCD

https://dl.doubtnut.com/l/_XSdNnhRki396
https://dl.doubtnut.com/l/_UqM7GecCIs5R
https://dl.doubtnut.com/l/_XqV1ciqtPKvo
https://dl.doubtnut.com/l/_zDmddwa4KDO2


form a parallelogram.

Watch Video Solution

18. Find the slope of the line, which makes an angle of  with the

positive direction of yaxis measured anticlockwise.

Watch Video Solution

30o

19. Find the angle between the lines whose slopes are 

Watch Video Solution

√3 and .
1

√3

20. Find the angle between the lines whose slopes are

.

Watch Video Solution

(2 − √3) and (2 + √3)

https://dl.doubtnut.com/l/_zDmddwa4KDO2
https://dl.doubtnut.com/l/_iuDn2eivpyE3
https://dl.doubtnut.com/l/_xLWYIhDGDgit
https://dl.doubtnut.com/l/_9rKW376nFLdt


21. If A(1, 2), B(-3, 2) and C(3, -2) be the vertices of a A ABC, show that 

Watch Video Solution

tanA = 2   tanB =   (iii)tanC =
2

3
4

7

22. If  is the angle between the lines joining the points A(0, 0) and B(2, 3),

and the points C(2,-2) and D(3,5), show that 

Watch Video Solution

θ

tan θ =
11

23

23. If  is the angle between the diagonals of a parallelogram 

whose vertices are  and  Show that 

Watch Video Solution

θ ABCD

A(0, 2), B(2, − 1), C(4, 0) D(2, 3).

tan θ = 2.

https://dl.doubtnut.com/l/_2CfOpacfeTMD
https://dl.doubtnut.com/l/_cat6j1a1p2X2
https://dl.doubtnut.com/l/_yMXfjzb8IPF6


Exercise 20 C

24. Show that the points A(0, 6), B(2, 1) and C(7, 3) are three corners of a

square ABCD. Find (i) the slope of the diagonal BD and (i) the coordinates

of the fourth vertex D.

Watch Video Solution

25. A(1, 1), B(7, 3) and C(3, 6) are the vertices of a . If D is the

midpoint of BC and AL BC, �nd the slopes of (i) AD and (ii) AL.

Watch Video Solution

△ ABC

1. Find the equation of a line parallel to the x-axis ata distance of 

(i) 4 units above it (ii) 5 units below it.

Watch Video Solution

https://dl.doubtnut.com/l/_qSUuJ4fSjWy5
https://dl.doubtnut.com/l/_HAXNsDPNsXzK
https://dl.doubtnut.com/l/_7odmv0xszSp7
https://dl.doubtnut.com/l/_t0oMq4oUNnnS


2. Find the equation of a line parallel to the y-axis at a distance of 

(i)6 units to its right (ii) 3 units to its left.

Watch Video Solution

3. Find the equation of a line parallel to the x-axis and having intercept-3

on the y-axis

Watch Video Solution

4. Find the equation of a horizontal line passing through the point (4,-2).

Watch Video Solution

5. Find the equation of a vertical line passing through the point (-5,6).

Watch Video Solution

https://dl.doubtnut.com/l/_t0oMq4oUNnnS
https://dl.doubtnut.com/l/_aCG30lSbGotk
https://dl.doubtnut.com/l/_gqQmU3EOENDy
https://dl.doubtnut.com/l/_EVYwXUmX1fpA
https://dl.doubtnut.com/l/_zCbI5tOYuFrp


6. Find the equation of a line which is equidistant from the lines x=-2 and

x=6.

Watch Video Solution

7. Find the equation of a line which is equidistant from the lines y=8 and

y=-2

Watch Video Solution

8. Find the equation of a line 

(i) whose slope is 4 and which passes through the point (5, -7), 

(ii) whose slope is -3 and which passes through the point (-2, 3), 

(iii) which makes an angle of  with the positive direction of the x-

axis and passes through the point (0, 2).

Watch Video Solution

( )
2π

3

https://dl.doubtnut.com/l/_zCbI5tOYuFrp
https://dl.doubtnut.com/l/_H6gBeYhaPXnL
https://dl.doubtnut.com/l/_r4jM92AEyQ9E


9. Find the equation of a line whose inclination with the x-axis is  and

which passes through the point (0, 5).

Watch Video Solution

30∘

10. Find the equation of a line whose inclination with the x-axis is 

and which passes through the point (3, -5).

Watch Video Solution

150∘

11. Find the equation of a line passing through the origin and making an

angle of  with the positive direction of the x-axis.

Watch Video Solution

120∘

12. Find the equation of a line which cuts o� intercept 5 on the x-axis and

makes an angle of  with the positive direction of the x-axis.60∘

https://dl.doubtnut.com/l/_RWP7l97r1QZ0
https://dl.doubtnut.com/l/_3ZDUaVAWp3WB
https://dl.doubtnut.com/l/_g0RfKuWe4vos
https://dl.doubtnut.com/l/_CMA5NmKf33eS


Watch Video Solution

13. Find the equation of the line passing through the point P(4, -5) and

parallel to the line joining the points A(3, 7) and B(-2, 4).

Watch Video Solution

14. Find the equation of the line passing through the point P(-3,5) and

perpendicular to the line passing through the points A(2, 5) and B(-3, 6).

Watch Video Solution

15. Find the slope and the equation of the line passing through the

points: 

(i)(3,-2) and (-5,-7) (ii)(-1,1) and (2,-4) 

(5,3) and (-5,-3) (iv) (a,b) and (-a,b)

Watch Video Solution

https://dl.doubtnut.com/l/_CMA5NmKf33eS
https://dl.doubtnut.com/l/_eegheLbIrCln
https://dl.doubtnut.com/l/_8yWwtO79HFqv
https://dl.doubtnut.com/l/_YklEA6D3S6vg


16. Find the angle which the line joining the points

 makes with the x-axis.

Watch Video Solution

(1, √3) and (√2, √6)

17. Prove that the points A(1, 4), B(3, -2) and C(4, -5) are collinear. Also �nd

the equation of the line on which these points lie.

Watch Video Solution

18. If A(0, 0), B(2, 4) and C(6, 4) are the vertices of a , �nd the

equations of its sides.

Watch Video Solution

△ ABC

19. If A(-1, 6), B(-3, -9) and C(5, -8) are the vertices of a , �nd the

equations of its medians.

△ ABC

https://dl.doubtnut.com/l/_oN6aHTifu4mR
https://dl.doubtnut.com/l/_fDqBdrROadSz
https://dl.doubtnut.com/l/_QWcWaSq12b9N
https://dl.doubtnut.com/l/_vfWW4bdaOS4m


Watch Video Solution

20. Find the equation of the perpendicular bisector of the line segment

whose end points are A(10, 4) and B(-4,9)

Watch Video Solution

21. Find the equations of the altitudes of a , whose vertices are

A(2,-2), B(1,1) and C(-1,0).

Watch Video Solution

△ ABC

22. If A(4, 3), B(0, 0) and C(2, 3) are the vertices of a , �nd the

equation of the bisector of .

Watch Video Solution

△ ABC

∠A

https://dl.doubtnut.com/l/_vfWW4bdaOS4m
https://dl.doubtnut.com/l/_Zf5obD1K1LyB
https://dl.doubtnut.com/l/_OYpjPHS6c7Ay
https://dl.doubtnut.com/l/_0kUWZLQumlzI


Exercise 20 D

23. The midpoints of the sides BC, CA and AB of a  are D(2,1),

E(-5,7)and F-5, -5) respectively. Find the equations of the sides of 

.

Watch Video Solution

△ ABC

△ ABC

24. If A(1, 4), B(2, 3) and C(-1,-2) are the vertices of a , �nd the

equation of 

(i) the median through A 

(ii) the altitude through A 

(iii) the perpendicular bisector of BC.

Watch Video Solution

△ ABC

1. Find the equation of the line whose 

(i) slope=3 and y-intercept=5 

https://dl.doubtnut.com/l/_VTdaAMJwL42c
https://dl.doubtnut.com/l/_s1j0Rffr3B3a
https://dl.doubtnut.com/l/_i2nXxUnv4wBC


(ii) slope=-1 and y-intercept=4 

(iii) slope =  and y-intercept=-3

Watch Video Solution

−
2

5

2. Find eqn of line which cut o� an intercept of 4 units on the x- axis and

makes an angle of  with positive direction of y- axis.

Watch Video Solution

30∘

3. Find the equation of the line whose inclination is  and which makes

an intercept of 6 units on the negative direction of the y-axis.

Watch Video Solution

5π

6

4. Find the equation of the line cutting o� an intercept-2 from the y-axis

and equally inclined to the axes.

Watch Video Solution

https://dl.doubtnut.com/l/_i2nXxUnv4wBC
https://dl.doubtnut.com/l/_R9YF3RRMtZju
https://dl.doubtnut.com/l/_7kfdaTV4W9hA
https://dl.doubtnut.com/l/_OVVrS8hCXSjO


5. Find the equation of the bisectors of the angles between the

coordinate axes.

Watch Video Solution

6. Find the equation of the line through the point (-1,5) and making an

intercept of -2 on the y-axis.

Watch Video Solution

7. Find the equation of the line which is parallel to the line 2x-3y=8 and

whose y-intercpt is 5 units.

Watch Video Solution

https://dl.doubtnut.com/l/_OVVrS8hCXSjO
https://dl.doubtnut.com/l/_BcZorzduAaXV
https://dl.doubtnut.com/l/_brpR9C0qIC9D
https://dl.doubtnut.com/l/_IJ6ESPDvuPcL


8. Find the equation of the line passing through the point (0, 3) and

perpendicular to the line x-2y+5=0.

Watch Video Solution

9. Find the equation of the line passing through the point (2, 3) and

perpendicular to the line 4x+3y=10.

Watch Video Solution

10. Find the equation of the line passing through the point (2, 4) and

perpendicular to the x-axis.

Watch Video Solution

11. Find the equation of the line that has x-intercept-3 and which is

perpendicular to the line 3x+5y=4

https://dl.doubtnut.com/l/_jZAUXrZpRdZ5
https://dl.doubtnut.com/l/_BYfIrjp3A4Q1
https://dl.doubtnut.com/l/_NHmvDUMczs5n
https://dl.doubtnut.com/l/_kncFMANXznGl


Watch Video Solution

12. Find the equation of the line which is perpendicular to the line

3x+2y=8 (4,-2) and passes through the midpoint of the line joining the

points (6,4) and (4,-2)

Watch Video Solution

13. Find the equation of the line whose y-intercept is -3 and which is

perpendicular to the line joining the points (-2,3) and (4,-5).

Watch Video Solution

14. Find the equation of the line passing through (-3, 5) and perpendicular

to the line through the points (2, 5) and (-3,6).

Watch Video Solution

https://dl.doubtnut.com/l/_kncFMANXznGl
https://dl.doubtnut.com/l/_yW5bgqRnUBsQ
https://dl.doubtnut.com/l/_X28AWa0vk3xE
https://dl.doubtnut.com/l/_OvsGE6PixnV3
https://dl.doubtnut.com/l/_5QptOZM6H0ye


Exercise 20 E

15. A line perpendicular to the line segment joining the points (1,0) and

(2,3) divides it in the ratio 1:2. Find the equation of the line.

Watch Video Solution

1. Find the equation of the line which cuts o� intercepts-3 and 5 on the x-

axis and y-axis respectively.

Watch Video Solution

2. Find the equation of the line which cuts o� intercepts 4 and -6 on the

x-axis and y-axis respectively.

Watch Video Solution

https://dl.doubtnut.com/l/_5QptOZM6H0ye
https://dl.doubtnut.com/l/_qQ7HsXMnl2L3
https://dl.doubtnut.com/l/_OuK6Le7yx9Me


3. Find the equation of the line that cuts o� equal intercepts on the

coordinate axes and passes through the point (4,7).

Watch Video Solution

4. Find the equation of the line which passes through the point (3, -5) and

cuts o� intercepts on the axes which are equal in magnitude but

opposite in sign.

Watch Video Solution

5. Find equation of the line passing through the point (2, 2) and cutting

o� intercepts on the axes whose sum is 9.

Watch Video Solution

https://dl.doubtnut.com/l/_NBoxH1i2g9ZX
https://dl.doubtnut.com/l/_rCXcIC6Jc5jj
https://dl.doubtnut.com/l/_3YHB8HYFCJHS


6. Find the equation of the line which passes through the point (22,-6)

and whose intercept on the x-axis exceeds the intercept on the y-axis by 5.

Watch Video Solution

7. Find the equation of the line whose portion intercepted between the

axes is bisected at the point (3,-2)

Watch Video Solution

8. Find the equation of the line whose portion intercepted between the

coordinate axes is divided at the point (5, 6) in the ratio 3:1.

Watch Video Solution

9. A straight line passes through the point (-5,2) and the portion of the

line intercepted between the axes is divided at this point in the ratio 2:3.

https://dl.doubtnut.com/l/_j5JTJJCte9I9
https://dl.doubtnut.com/l/_AfX5pSdP8IK4
https://dl.doubtnut.com/l/_pYlsIde7s8JP
https://dl.doubtnut.com/l/_iVYXvuWUUvDo


Exercise 20 F

Find the equation of the line.

Watch Video Solution

10. If the straight line  passes through the points (8,9) and

(12,-15) �nd the values of a and b.

Watch Video Solution

+ = 1
x

a

y

b

1. Find the equation of the line for which 

 (ii)   

(iii)  (iv)   

(v)  (vi)

Watch Video Solution

(i)p = 3 and α = 45∘ p = 5 and α = 135∘

p = 8α = 150∘ p = 3 and α = 225∘

p = 2 and α = 300∘ p = 4 and α = 180∘

https://dl.doubtnut.com/l/_iVYXvuWUUvDo
https://dl.doubtnut.com/l/_Mpxr0tKoDuD1
https://dl.doubtnut.com/l/_jeEfZpzbCqUi


Exercise 20 G

2. The length of the perpendicular segment from the origin to a line is 2

units and the inclination of this perpendicular is  such that sin

 is acute. Find the equation of the line.

Watch Video Solution

α

α = and α
1

3

3. Find the equation of the line which is ata distance of 3 units from the

origin such that , where  is the acute angle which this

perpendicular makes with the positive direction of the x-axis.

Watch Video Solution

tanα =
5

12
α

1. Reduce the equation 2x-3y-5=0 to slope-intercept form, and �nd from it

the slope and y-intercept

Watch Video Solution

https://dl.doubtnut.com/l/_XUc66M3av5vi
https://dl.doubtnut.com/l/_QYSJStQPBMto
https://dl.doubtnut.com/l/_hVcTokalPG5p


2. Reduce the equation 5x+7y-35=0 to slope-intercept form, and hence

�nd the slope and the y-intercept of the line

Watch Video Solution

3. Reduce the equation y+5=0 to slope-intercept form, and hence �nd the

slope and the y-intercept of the line.

Watch Video Solution

4. Reduce the equation 3x-4y+12=0 to intercepts form. Hence, �nd the

length of the portion of the line intercepted between the axes.

Watch Video Solution

5. Reduce the equation 5x-12y=60 to intercepts form. Hence, �nd the

length of the portion of the line intercepted between the axes.

https://dl.doubtnut.com/l/_hVcTokalPG5p
https://dl.doubtnut.com/l/_TxBt6pbEvlWK
https://dl.doubtnut.com/l/_1HtcMRmmeWQ7
https://dl.doubtnut.com/l/_sTupqq9nynQV
https://dl.doubtnut.com/l/_tydvXkAQOKSy


Watch Video Solution

6. Find the inclination of the line (i)  (ii) 

 (iii)

Watch Video Solution

x + √3y + 6 = 0

3x + 3y + 8 = 0 √3x − y − 4 = 0

7. Reduce the equation  to the normal form 

, and hence �nd the values of .

Watch Video Solution

x + y − √2 = 0

x cosα + y sinα = p α and p

8. Reduce the equation  to the normal form 

, and hence �nd the values of .

Watch Video Solution

x + √3y − 4 = 0

x cosα + y sinα = p α and p

https://dl.doubtnut.com/l/_tydvXkAQOKSy
https://dl.doubtnut.com/l/_yO23RhOZP0cF
https://dl.doubtnut.com/l/_SELEjCr0U4nR
https://dl.doubtnut.com/l/_dhiJg5MBfqdx


Exercise 20 H

9. Reduce each of the followringequations to normal form: 

(i)x+y-2=0 (ii)  (iii)x+5=0 (iv)2y-3=0 (v)4x+3y-9=0

Watch Video Solution

x + y + √2 = 0

1. Find the distance of the point (3,-5) from the line 3x-4y=27.

Watch Video Solution

2. Find the distance of the point (-2,3) from the line 12x=5y+13.

Watch Video Solution

3. Find the distance of the point (-4,3) from the line 4(x+5)=3(y-6) 

Watch Video Solution

https://dl.doubtnut.com/l/_uwnk8iYv307m
https://dl.doubtnut.com/l/_tstfd03K4Oht
https://dl.doubtnut.com/l/_NE43TtU0DRNz
https://dl.doubtnut.com/l/_RZ3KDNCmyU7V


4. Find the distance of the point (2, 3) from the line y=4.

Watch Video Solution

5. Find the distance of the point (4, 2) from the line joining the points (4,

1) and (2,3).

Watch Video Solution

6. Find the length of perpendicular from the origin to each of the

following (i)7x+24y=50 (ii)4x+3y=9 (iii)x=4

Watch Video Solution

7. Prove that the product of the lengths of the perpendiculars drawn from

the points and to the line (√a2 − b2, 0) ( − √a2 − b2, 0)
x

a
cos θ +

y

b

https://dl.doubtnut.com/l/_RZ3KDNCmyU7V
https://dl.doubtnut.com/l/_6d66ZmiPGmOl
https://dl.doubtnut.com/l/_0kqgi8pKSnHZ
https://dl.doubtnut.com/l/_Obvbw9uq6H1O
https://dl.doubtnut.com/l/_TUlECLiCwVeU


is .

Watch Video Solution

sin θ = 1 b2

8. Find the values of k for which the length of perpendicular from the

point (4,1) on the line 3x-4y+ k=0 is 2 units

Watch Video Solution

9. Show that the length of perpendicular from the point (7, 0) to the line

5x+12y-9=0is double the length of perpendicular to it from the point (2,1).

Watch Video Solution

10. The points A(2,3), B(4,-1) and C(-1,2) are the vertices of A ABC. Find the

length of perpendicular from C on AB and hence �nd the area of

.

Watch Video Solution

△ ABC

https://dl.doubtnut.com/l/_TUlECLiCwVeU
https://dl.doubtnut.com/l/_svKvRzcSz3zu
https://dl.doubtnut.com/l/_LPpphWIBeYYU
https://dl.doubtnut.com/l/_qXYNZ3ywARob


11. What are the points on the yaxis whose distance from the line

is 4 units.

Watch Video Solution

+ = 1
x

3

y

4

12. The points on  that lie at a unit distance from the line 

 are

Watch Video Solution

x + y = 4

4x + 3y − 10 =

13. A vertex of a square is at the origin and its one side lies along the line

3x-4y-10=0. Find the area of the square.

Watch Video Solution

14. Find the distance between the parallel lines 4x-3y+5=0 and 4x-3y=0

https://dl.doubtnut.com/l/_qXYNZ3ywARob
https://dl.doubtnut.com/l/_vzijlYzPFLGP
https://dl.doubtnut.com/l/_gIZucfFVMdFO
https://dl.doubtnut.com/l/_kOlRwpAonTWd
https://dl.doubtnut.com/l/_2hYTjrLBAmj7


Watch Video Solution

15. Pind the distance between the parallel lines 8x+15y-36=0 and

8x+15y+32=0.

Watch Video Solution

16. Find the distance between the parallel lines y=mx+c and y=mx+d.

Watch Video Solution

17. Find the distance between the parallel lines p(x+y)+g=0 and p(x+y)-r=0.

Watch Video Solution

18. Prove that the line 12x-5y-3=0 is mid-parallel to the lines 12x-5y+7=0and

12x-5y-13=0

W t h Vid S l ti

https://dl.doubtnut.com/l/_2hYTjrLBAmj7
https://dl.doubtnut.com/l/_rJtypc9OY8gI
https://dl.doubtnut.com/l/_gFLy9fWJoIex
https://dl.doubtnut.com/l/_BoUaDyXZQObx
https://dl.doubtnut.com/l/_JsLpU3ZlqaVB


Exercise 20 I

Watch Video Solution

19. The perpendicular distance of a line from the origin is 5 units and its

slope is -1. Find the equation of the line.

Watch Video Solution

1. Find the points of interesting of the lines `4x+3y=5 and x=2y-7

Watch Video Solution

2. Show that the lines x+7y=23 and 5x+2y=16 interest at the point (2,3)

Watch Video Solution

https://dl.doubtnut.com/l/_JsLpU3ZlqaVB
https://dl.doubtnut.com/l/_airMeAVZv9zK
https://dl.doubtnut.com/l/_DqdkSNEy0EXj
https://dl.doubtnut.com/l/_9RPjhGt8eBsC


3. Show that the lines 3x-4y+5=0,7x-8y+5=0 and 4x+5y=45 are concurrent.

Also �nd their point of intersection.

Watch Video Solution

4. Find the value of k so that the lines 3x-y-2=0, 5x+ky-3=0 and 2x+y-3=0 are

concurrent.

Watch Video Solution

5. Find the image of the point P(1, 2) in the line x-3y+4=0

Watch Video Solution

6. Find the area of triangle formed by the lines :

Watch Video Solution

 x + y − 6 = 0,  x − 3y − 2 = 0 and 5x − 3y + 2 = 0

https://dl.doubtnut.com/l/_H92yuZgyns0O
https://dl.doubtnut.com/l/_TcXcD9oMK2lY
https://dl.doubtnut.com/l/_PDvvklc4emrE
https://dl.doubtnut.com/l/_xYuibPN1rYnI


7. Find the area of the triangle formed by the lines x=0, y=1 and 2x+y=2.

Watch Video Solution

8. Find the area of the triangle, the equations of whose sides are y=x, y=2x

and y-3x=4.

Watch Video Solution

9. Find the equation of the perpendicular drawn from the origin to the

line 4x-3y+5=0. Also, �nd the coordinates of the foot of the perpendicular.

Watch Video Solution

10. Find the equation of the perpendicular drawn from the point P(-2,3) to

the line x-4y+7=0. Also, �nd the coordinates of the foot of the

https://dl.doubtnut.com/l/_xYuibPN1rYnI
https://dl.doubtnut.com/l/_Tf8sWUUxZISN
https://dl.doubtnut.com/l/_0Cy5Q0XrO92U
https://dl.doubtnut.com/l/_JsDmQu09pDGF
https://dl.doubtnut.com/l/_PHfCyx7MFzea


Exercise 20 J

perpendicular.

Watch Video Solution

11. Find the equations of the medians of a triangle, the equations of

whose sides are:

Watch Video Solution

3x + 2y + 6 = 0,  2x − 5y + 4 = 0 and x − 3y − 6 = 0

1. If the origin is shifted to the point (1, 2) by a translation of the axes, �nd

the new coordinates of the point (3,-4)

Watch Video Solution

https://dl.doubtnut.com/l/_PHfCyx7MFzea
https://dl.doubtnut.com/l/_Rwm66cbmjjed
https://dl.doubtnut.com/l/_E0yJpQPxPaKx


2. If the origin is shifted to the point (-3,-2) by a translation of the axes,

�nd the new coordinates of the point (3,-5).

Watch Video Solution

3. If the origin is shifted to the point (0,-2) by a translation of the axes,

the coordinates of a point become (3, 2). Find the original coordinates of

the point.

Watch Video Solution

4. If the origin is shifted to the point (2,-1) by a translation of the axes, the

coordinates of a point become (-3,5). Find the original coordinates of the

point.

Watch Video Solution

https://dl.doubtnut.com/l/_TqREyg9Vqufo
https://dl.doubtnut.com/l/_qJb2UTl5K9KZ
https://dl.doubtnut.com/l/_rNEAsuXYUl4g


5. At what point must the origin be shifted, if the coordinates of a point

(4, 2) become (3,-2)?

Watch Video Solution

6. The equation  beome when the origin is

shifted to the point  is

Watch Video Solution

x2 + xy − 3x − y + 2 = 0

(1, 1)

7. Find what the following equation become when the origin is shifted to

the point (1,1): 

Watch Video Solution

xy − y2 − x + y = 0

8. Find what the following equation become when the origin is shifted to

the point (1,1): x2 − y2 − 2x + 2y = 0

https://dl.doubtnut.com/l/_DMrO372qhcpD
https://dl.doubtnut.com/l/_8IDlHpstt2RH
https://dl.doubtnut.com/l/_nVNhJzyD1xoa
https://dl.doubtnut.com/l/_FeCYDi5hZrhK


Exercise 20 K

Watch Video Solution

9. Find what the following equation become when the origin is shifted to

the point (1,1): 

Watch Video Solution

xy − x − y + 1 = 0

10. Transform the equation  to parallel axes

when the origin is shifted to the point (1,-2)

Watch Video Solution

2x2 + y2 − 4x + 4y = 0

1. Find the equation of the line drawn through the point of intersection

of the lines  and passing through

the point (4,-5).

Watch Video Solution

x − 2y + 3 = 0 and 2x − 3y + 4 = 0

https://dl.doubtnut.com/l/_FeCYDi5hZrhK
https://dl.doubtnut.com/l/_b9YK8GyKCkBC
https://dl.doubtnut.com/l/_q4YvWpt7jHCJ
https://dl.doubtnut.com/l/_08mMfzaXCP36


Watch Video Solution

2. Find the equation of the line drawn through the point of intersection

of the lines  and passing through the origin.

Watch Video Solution

x − y = 7 and 2x + y = 2

3. Find the equation of the line drawn through the point of intersection

of the lines x+y=9 and 2x-3y+7=0 and whose slope is 

Watch Video Solution

−2

3

4. Find the equation of the line drawn through the point of intersection

of the lines x-y=1 and 2x-3y+1=0 and which is parallel to the line 3x+4y=12

Watch Video Solution

https://dl.doubtnut.com/l/_08mMfzaXCP36
https://dl.doubtnut.com/l/_PISfDj5DgJqC
https://dl.doubtnut.com/l/_E6PnihCksodK
https://dl.doubtnut.com/l/_MX9qmD7q75CO


5. Find the equation of the line through the intersection of the lines 5x-

3y=1 and 2x+3y=23 and which is perpendicular to the line 5x-3y=1

Watch Video Solution

6. Find the equation of the line through the intersection of the lines 2x-

3y=0 and 4x-5y=2 and which is perpendicular to the line x+2y+1=0.

Watch Video Solution

7. Find the equation of the line through the intersection of the lines x-

7y+5=0 and 3x+y-7=0 and which is parallel to x-axis.

Watch Video Solution

8. Find the equation of the line through the intersection of the lines 2x-

3y+1=0 and x+y-2=0 and drawn parallel to y-axis.

https://dl.doubtnut.com/l/_bWjwivcCQLQQ
https://dl.doubtnut.com/l/_jhrWDFpiPXdC
https://dl.doubtnut.com/l/_yNnKnh03F0sB
https://dl.doubtnut.com/l/_oKFZUmPf2wO6


Watch Video Solution

9. Find the equation of the line through the intersection of the lines

2x+3y-2=0 and x-2y+1=0 and having x-intercept equal to 3.

Watch Video Solution

10. Find the equation of the line passing through the intersection of the

lines 3x-4y+1=0 and 5x+y-1=0 and which cuts o� equal intercepts from the

axes.

Watch Video Solution

https://dl.doubtnut.com/l/_oKFZUmPf2wO6
https://dl.doubtnut.com/l/_R7MSHAYlBzQ2
https://dl.doubtnut.com/l/_8mE1sxxj8LS4

